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Placing Decimals with Multiplication

Name:

Deter mine the placement of the decimal in each product.

-

(7.8)

5.809 x 7.8

1. Count the quantity of numbersto the
right of the decimal for each factor.
5.809 has 3 numbersright of the
decimal (5.809)
7.8 has 1 number right of the decimal

2.

453102

Add the amounts together. Y our answer
should have the same quantity of numbersto

the right of the decimal.
3+1=4

5.089 (3) x 7.8 (1) = 45.3102 (4)

~N

Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than

/

& 48.
D 647x98= 6 3 4 0 6

2) 2x333= 6 6 6

3 229x6= 1 3 7 4

4) 556 % 6.985 = 3883660
5 6x385= 2 310

6) 3xg2= 2 4 6

7) 313x9= 2 8 1 7

8) 14x7581= 106 1 3 4
9 711x8= 5 6 8 8

10) 37x3= 1 1 1

11) 6429x843= 5419 6 4 7
12) 18x1= 1 8

13) 21x948= 1990 8

14) 419x85= 356 15

15 4x253= 10 1 2

16) 62 x4.66= 2 889 2

17) 43x3= 1 2 9

18) 6.625x 6= 39 750

19) 3318x861= 2 856 79 8

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Answers
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Placing Decimals with Multiplication Name. Answer Key
Deter mine the placement of the decimal in each product. ANnswers
7 5.809 x 7.8 = 453102 N\
: 1 63.406
L C.O UAHls quant! e s Etos 2. Add the amounts together. Y our answer
right of the decimal for each factor. .
_ should have the same quantity of numbersto
5.809 has 3 _numbers right of the the right of the decimal. 2. 6.66
decimal (5.809) 3+1=4
7.8 has1 numbez 7|r|g)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N 13.74
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than 4 38.83660
L 5 23.10
) 6.47x98= 6 3.4 0 6
2 2x333= 6 6 6 6. 24.6
3 229x6= 1 3.7 4 - 28.17
4) _
5.56 x 6.985 = 3 8.8 36 60 N 10.6134
5 ex385= 2 3.1 0
0. 56.88
6) 3x82= 2 4 6
11.1
7) 313x9= 2 8.1 7 10
8) 14x7581= 1 0.6 13 4 1. 54.19647
9 711x8= 5 6.8 8 12 1.8
10) -
3.7x3 1 1.1 s 19.008
11) 6.429x843= 5 4.1 9 6 4 7
1. 35.615
12) 18x1= 1.8
10.12
13) 21x948= 1 9.9 0 8 15. 0
14) 419x85= 356 15 16, 28.892
15) 4x253= 1 0.1 2 17 12.9
16) 62x4.66= 2 88 9 2
. 18, 39.750
17) 43x3= 1 2.9
18 19. 28.56798
) 6.625x 6= 39 7 5 0
19) 3318x861= 2 85 6 7 9 8
95(89(84|79|74|68|63|58]|53 47|
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